DM 7
Calcul matriciel



TP : A I'aide du logiciecl Maxima, résoudre le systéme (S) suivant :

r X+2Y+3Z-T+V=1
X+2Y+Z-U+V=0
Y+Z+2T-2U=1
Y+3Z+2T+U+V=-1
2X—-3Y+Z+2T+4U+2V=0
X+2Y+2Z-U+V=1

(S) {




1,0,1], [1,2,1,0,-1,1], [0,1,1,2,-2,0], [0,1,3,2,1,1]. [2,-3,1,2,4,2]. [1,2,2,0,- 1

TP : A I’aide du logiciel Maxima, résoudre le systéme (S) suivant :

r X+2Y+3Z-T+V=1

X+2Y+Z-U+V=0

(S) 4 Y+Z+2T-2U=1
Y+3Z+2T+U+V=-1

2X—=3Y+Z+2T+4U+2V=0

\ X+2Y+2Z-U+V=1
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(1 solve([x+2-y+3-z-t+v=1, x+2-y+z-u‘!"- ,y+z+2-t-2 u=1, y+3z+42t+usv==1,2:x-3-y+24+ 2:t+4u+ 2.v=0,x+2:y+ 2:z-u+v=1], [xy,z,t,uv]) ;
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R: matrix(
[1,-1,-1],
[10,0,6],
[10,2,0]

):

§ =N =5
10 0 6
10 2 0

determinant(R);
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B: matrix(
[0},

[12).

(18]

):
0
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18

R_inv: invert(R);
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